Question 1: Evidence 1
Fruitlist[]
i=input("orange")
fruitlist.append(i)
print[fruitlist]
Question2: Evidence 2
vegetablelist[]
for in range(10)=("tomato","carrot","lemon","lettus","strawbery","cucumber","cherry","mint","orange","apple")
print [vegetablelist]
Question 3: Evidence 3
Cities=["New York","paris","madrid","Amman"]
len[cities]
cities.append("London")
cities[1]=("Dubai")
del[cities]
i=input(3)
print[cities(2)]
print["Amman"]
len("Amman")
print(all list)
Question 3: Evidence 4
Out of range

